Government Center, Purok 2, Libertad, Quezon, Bukidnon
CCC No. 627
Hotline #: 0917-598-9322 E-mail Address: quezonwaterdistrict@yahoo.com

/\) Quezon Bukidnon Water District

REQUEST FOR QUOTATION
Dear Sir/Ma'am:

May we request for your price quotation per PR # 24-01-049 dated 01/12/2024 on the following item/s:

ITEM UNIT DESCRIPTION QTY
1 pcs |Hotline Clamp 1
2 pcs |Pole Clamp 7"-8" 4
3 mtrs  |THW Wire # 14.0 mm? 20
4 mtrs [THW Wire # 60.0 mm?2 40
5 pcs |Bolt, Machine, 5/8 x10 8
6 ft RSC # 2 " dia. 12
7 pc RSC Connector # 2 " dia. 1
8 pc Entrance Cap Adaptor # 2 1
9 set Entrance Cap # 2 1
10 pcs |Compression Connector, YHO 300 6
11 pc Fuse Link 5 Amps 1
12 set Secondary Rack, 2 spool, Heavy duty 1
13 pc Ground Rod, 10' 1
14 pc Ground Rod Clamp 1
15 ft Grounding Wire 30
16 pcs |Transformer Mounting Bracket 2
17 pcs |Nut, Eye, 5/8" Conventional 2
18 pcs |Clevis, Secondary Swinging Without Spool 2
19 pcs  |Insulator Spool, 1-3/4", ANSI Class 53-2 2
20 Two Bolts Connector, for 60mmz2 Conductor, Type B- 5

pcs |[B
21 pcs |Clamp, Loop Deadend, #6 to #2/0 ACSR 4
22 pouch |Sealant (Vulcaseal) 2
23 set  |Aluminum Stirrup Clamp 1
Distribution Transformer, 37.5 KVA, 7620/240/120
24 V, Amorphous Core, PCB Free Oil with certification 1
unit |and Functional External Tap Changer
25 pc Meter Base, Heavy Duty, Class 200 Deep JAW 1
26 set Cutout Assembly with Arrester, 100 A 1
27 set Cutout & Arrester Mounting Bracket 1

*kkkkkkhkk N oth | n g Fol |Ows*********

Please submit your quotation on or before 01/15/2024, 12:00noon.
Approved Budget for the Contract (ABC) - Php 227,980.60.60

JANICE MAY PORCADILLA-MAMPAWA
BAC Chairperson



JANICE MAY PORCADILLA-MAMPAWA
BAC - Chairperson

Bids and Awards Committee

Quezon Bukidnon Water District

Dear Ms. Mampawa:

Respectfully submitting herewith our price quotation for the following item/s:

ITEM UNIT DESCRIPTION QTY UNIT COST AMOUNT

1 pcs |Hotline Clamp 1

2 pcs |Pole Clamp 7"-8" 4

3 mtrs  |THW Wire # 14.0 mm? 20

4 mtrs  |THW Wire # 60.0 mm? 40

5 pcs Bolt, Machine, 5/8 x10 8

6 ft RSC # 2 " dia. 12

7 pc RSC Connector # 2 " dia. 1

8 pc Entrance Cap Adaptor # 2 1

9 set Entrance Cap # 2 1

10 pcs |Compression Connector, YHO 300 6

11 pc Fuse Link 5 Amps 1

12 set |Secondary Rack, 2 spool, Heavy duty 1

13 pc Ground Rod, 10’ 1

14 pc Ground Rod Clamp 1

15 ft Grounding Wire 30

16 pcs |Transformer Mounting Bracket 2

17 pcs Nut, Eye, 5/8" Conventional 2

18 pcs |Clevis, Secondary Swinging Without Spool 2

19 pcs |Insulator Spool, 1-3/4", ANSI Class 53-2 2

20 ocs Two Bolts Connector, for 60mmz2 Conductor, Type B-B 2

21 pcs |Clamp, Loop Deadend, #6 to #2/0 ACSR 4

22 pouch |Sealant (Vulcaseal) 2

23 set  |Aluminum Stirrup Clamp 1

Distribution Transformer, 37.5 KVA, 7620/240/120 V,
24 Amorphous Core, PCB Free Qil with certification and 1
unit  |Functional External Tap Changer

25 pc Meter Base, Heavy Duty, Class 200 Deep JAW 1

26 set Cutout Assembly with Arrester, 100 A 1

27 set Cutout & Arrester Mounting Bracket 1

*kkkkkkkk N oth |n g F Ol |OWS*********
TOTAL
Mode of Payment:  [Icash
CTheck Very truly yours,

Please make check payable to:
Company Name: Signature over Printed Name
Address:
TIN:

Designation/Position
Contact Number: 9

Validity: 30 days only from date of quotation. Date



